



năm phân số, thứ tự các phép toán có dấu ngoặc

Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\frac{3}{2} + \frac{1}{2}\right)^2 - \frac{1}{2}\left(\frac{1}{4} + \left(\frac{1}{3}\right)^2\right) =$$

$$\left(\frac{1}{2} + \frac{2}{3}\right)^2 - \frac{3}{2}\left(\frac{1}{4} - \left(\frac{1}{2}\right)^2\right) =$$

$$\left(2 + \frac{1}{5}\right)^2 - \frac{1}{4} \times \frac{1}{2} - 4^2 =$$

$$\left(5 + \frac{1}{2}\right)^2 - \frac{1}{5} - 2^2 + \frac{1}{3} =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{6}\right) \times \frac{3}{2} + \left(\frac{1}{5} + \frac{1}{6}\right)^2 =$$

$$\left(\frac{3}{4} - \frac{1}{3}\right)^2 + \frac{1}{2}\left(\frac{1}{2} - \frac{1}{2}\right) =$$

$$\left(\frac{1}{5} - \frac{1}{2}\right)^2 + \frac{1}{4}\left(\frac{1}{5} - \left(\frac{3}{4}\right)^2\right) =$$

$$\left(4 - \frac{1}{5}\right)^2 + \frac{1}{4} \times 2^2 \times \frac{3}{5} =$$

$$\left(\frac{1}{3} - \frac{1}{4}\right)^2 - \frac{1}{2}\left(\frac{1}{6} - \left(\frac{3}{5}\right)^2\right) =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{5}\right) \times \frac{1}{3} + \left(\frac{3}{2} + \frac{1}{4}\right)^2 =$$



năm phân số, thứ tự các phép toán có dấu ngoặc

Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\frac{3}{2} + \frac{1}{2}\right)^2 - \frac{1}{2}\left(\frac{1}{4} + \left(\frac{1}{3}\right)^2\right) = \frac{275}{72} = 3\frac{59}{72}$$

$$\left(\frac{1}{2} + \frac{2}{3}\right)^2 - \frac{3}{2}\left(\frac{1}{4} - \left(\frac{1}{2}\right)^2\right) = \frac{49}{36} = 1\frac{13}{36}$$

$$\left(2 + \frac{1}{5}\right)^2 - \frac{1}{4} \times \frac{1}{2} - 4^2 = \left(-\frac{2257}{200}\right) = \left(-11\frac{57}{200}\right)$$

$$\left(5 + \frac{1}{2}\right)^2 - \frac{1}{5} - 2^2 + \frac{1}{3} = \frac{1583}{60} = 26\frac{23}{60}$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{6}\right) \times \frac{3}{2} + \left(\frac{1}{5} + \frac{1}{6}\right)^2 = \frac{1367}{1800}$$

$$\left(\frac{3}{4} - \frac{1}{3}\right)^2 + \frac{1}{2}\left(\frac{1}{2} - \frac{1}{2}\right) = \frac{25}{144}$$

$$\left(\frac{1}{5} - \frac{1}{2}\right)^2 + \frac{1}{4}\left(\frac{1}{5} - \left(\frac{3}{4}\right)^2\right) = \left(-\frac{1}{1600}\right)$$

$$\left(4 - \frac{1}{5}\right)^2 + \frac{1}{4} \times 2^2 \times \frac{3}{5} = \frac{376}{25} = 15\frac{1}{25}$$

$$\left(\frac{1}{3} - \frac{1}{4}\right)^2 - \frac{1}{2}\left(\frac{1}{6} - \left(\frac{3}{5}\right)^2\right) = \frac{373}{3600}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{5}\right) \times \frac{1}{3} + \left(\frac{3}{2} + \frac{1}{4}\right)^2 = \frac{739}{240} = 3\frac{19}{240}$$